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NPTEL » A short lecture series on contour integration in the complex plane
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Progress Mentor

Unit 6 - The inverse Laplace transform

Course outline

Week-4 Assessment

How to access the portal?
The due date for submitting this assignment has passed.

As per our records you have not submitted this assignment.

Week0
. 1) . g yfet-xt
Introduction to complex The value of the integral f_ﬁ, ——— dx equals to
variables
Important theorems in mvai+1-1)
complex variables
Alya+ 1 —1)
Branch cuts of the square
root function
a(yf2a2—-1-1)
The inverse Laplace
transform a(yf2a—1-1)
Mo, the answer is incorrect.
® Pole on a branch cut. Secore: 0
® L shaped branch cut. Accepted Answers:
alvat+1-1)
® L shaped branch cut
continued 2) o -2

The value of the integral f_] ja T dx equals to

® Inverse Laplace Transform.

® Inverse Laplace Transform.

(/2 — a)

® Additional material or

corrections to lectures. wlay2 = 1)
® Summary of the total course.
x(+/2a - 1)
Quiz : Week-4 Assessment
Weekd Assessment Solution w(v2 = 1)/a
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
a2 — 1fa
3) The value of the integral [~ ——— dx equals to
£ Jlru yx{l-x) 4
0
xf2
T
2
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
I
4} The value of the integral [° l dx equals to
£ Jlru W x(3=x) 4
0
a3
3
o
Mo, the answer is incorrect.
Score: 0
Accepted Answers:
F o
5) The value of the integral [ —— dx equals to
E Jlru 2/ x(10=x) “d

10

x/10

I

Mo, the answer is incorrect.
score: 0

Accepted Answers:
T

B) Given the Bromwich integral f(1) = L™ (F(s)) = —

2mi

e'f3
et
3t
e’

Mo, the answer is incorrect.
score: 0

Accepted Answers:
P

7} Given the Bromwich integral f(t) = L~ '(F(s)) =

sin(t/3)
sin(3t)
sin(9¢)
9 sin(r)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
sin(31)

8) Given the Bromwich integral f(1) = L' (F(s)) =

cos(t/2)
4 cos(t)
cos(4t)

cos(2t)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
cos(2t)

9) Given the Bromwich integral f(1) = L~ '(F(s)) =

cos(f)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
P2

10) Given the Bromwich integral f(r) = £~ '(F(s)) =

5 sin(t) + cos(t)
sin(t) + 5 cos(t)
sin(5¢) + cos(t)
sinit) + cos(5t)

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
5 sin(t) + cos(t)

1) The value of the integral Jlrum U!%jﬂ dx equals to

—xa P cot(pr)
—ma’ cot(pr)
—ma~F cot(pr)

—maF coti pr)

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
—xa ? cot(pr)
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F(s)e* ds, then E'][ﬁ} equals to

F(s)e* ds, then E'][ﬁ} equals to

Fis)e" ds, then E'][ﬁ} equals to

F(s)e* ds, then E'][%} equals to

F(s)e*” ds, then E'][%} equals to

Due on 2019-08-28, 23:59 IST.
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